Do the following mentally :-

a 2100+ 30 b 2800 = 40 ¢ 49000 +70

d 24000 = 400 e 180000 = 3000 f 600000 + 200

g 5600000 + 800 h 25500000 + 500 i 4200 000 = 600
J 4160000 - 8000 k 21700000 +7000 | 5670000 + 9000.

a 20 cars in a garage forecourt had each done 38 000 miles.

What is the combined number of miles ‘}hese cars have travelled ?

b A machine automatically puts chewy sweets into jars.
WM 7500 chews are spread equally into 60 jars.

How many are in each jar ?

¢ 300 workers in a telesales company are in a lottery syndicate.

X
They win the second prize of £417 000.

How much should each person receive ?

d Q There are 1440 minutes in 1 day.

How many minutes are there in 50 days ?



